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Objectives Measures Targets Initiatives

Customer • Ensure service availability
• Provide speedy and 
accurate service
• Increase customer 
confidence

• Community consultation 
measures
• Do satisfaction 
Improvement analysis

• 75% kids, children, 
schoolboy, teenagers;
• 14% adults;
• 11% retires

• Cooperation with local 
authorities, schools, 
kindergartens, houses of 
culture;
• Quality advertisement, 
announcement

Financial •  “Sell”  idea to investors
•Improve profitability

•  Optimize revenue
•  Control costs 

• Increasing Annual Revenue 
Number
•  Increase sales growth in 
Almaty

• Standardizing every
Operating Aspect
• Cutting off unnecessary 
expenses

Internal • Make product more 
organized and convenient
• Reduce the fuel waste and 
improve logistics 

•  Introduce a CRM system
• Be more active in social 
media

•  Independent film directors 
can co-operate with us

• Make free film shows in 
order to attract customers
•  Expand the radius of our 
service to new cities

Learn and Growth • Provide the latest customer 
information
• Increase technological and 
marketing expertise
• Increase strategy 
awareness and motivation

• Amount of training hours
• Contests and competitions

• Employees • Organizing seminars and 
meetings
• Participating in various 
meetups





Profit/Loss
Fixed costs for implementation Prices, $
Equipment 2045$

Car 4000$

Popcorn makers 370$

Devices for pouring drinks 292$

Booking system(online ticket) 27$

Unforeseen expenses 80$

Total Cost: 6854$

Variable costs Prices, $
Advertisement 1500$

Transportation and travel(fuel) 220$

Materials and raw(popcorn, cola) 2000$

Rent place (50/50) 1500$

Working capital(salary) 15000$

VAT 2864$

Total Cost: 23084

Profit sources Prices, $
Ticket 
sales(countryside)
Ticket sales(other)

5780$
3500$

Advertisement 9600$

Popcorn & cola 
packet

5000$

Offers & 
cooperation

4762$

Total Profit: 28642$



  Cash Flow Year 1 Year 2 Year 3

  Operating:    

  Net Income -1296 4262 4558

  AR 0 120 125

  Cash from Operating -1296$ 4382$ 4683$

  Investing:    

  Equipment 0 700 800

  Long - term Investment 0 2000 2000

  Cash from Investing 0$ 2700$ 2800$

  Financing:    

  Long - term debt 7000 0 0

  Cash from Financing 7000$ 0$ 0$

  Opening Cash balance 0 5704 7386

  Closing Cash balance 5704 7386 9269



Balance sheet

Balance Sheet Year 1 Year 2 Year 3

Cash(AR) 5704$ 6386$ 8269$

Inventory 500$ 600$ 500$

Total Current Assets: 6204$ 6986$ 8769$

Long-term investment 0$ 2000$ 2000$

Equipment 0$ 700$ 800$

Total Long-term Assets: 0$ 2700$ 2800$

Total Assets: 6204$ 9686$ 11569$

Accounts Payable(Forecast) 1200$ 500$ 730$

Taxes Payable 2890$ 3095$ 3200$

Total Current Liabilities 4090$ 3595$ 3930$

Long Term Liabilities 2000$ 6000$ 7000$

Total Liabilities 6090$ 9595$ 10930$



Liquidity

Liquidity = 6204(CA) = 1.51 

Quick ratio = 6204(CA) – 500(IV) = 1.39 

Working capital = 6204(CA) – 5090(CL) = 1114

Working capital turnover = 17136(Net Sales) = 15.4

4090(CL) 

4090(CL)

      1114(WC)

Net sales = 20160(Gross) – 1008(return) – 2016(Discounts) = 17136 



Profitability

Profit rate = 2262(Net Profit) = 0.13 (13%)
17136(Net Sales)

Asset turnover = ____17136(Net Sales)____= 2.15
(6204 + 9686) / 2(Avg Total Assets

Return on assets = ____2262(Net Profit)____ = 0.28 (28%) 
(6204 + 9686) / 2(Avg Total Assets)



Equity

Cash received from investors: 29938$

Cash received from creditors:  15000$ 

Debt – Equity Ratio = 29938 = 0.5 
15000

Return on Equity = 2262(Net Profit)  = 0.15 (15%)
15000(Self Capital) 



Net FIN Obligations = 7000(FO) – 5704(FA) = 1296

Net OPER Assets = 4382(OA) – 500(OL) = 3882

Common Stockholder’s Equity = 3882 – 1296 = 2596 

Financial Leverage = 1296(NFO) = 0.49
2596(CSE)

Profitability



Stocks

Capital ($) 30 000$

authorized capital – common 
stocks

15 000$

# Common stocks shared 10 000

# Common stocks paid 10 000

Balance value 3 $

1 stock 0.01 % of company



Volume of Sales 6 857 $

Cost of Sales 132 $

Gross Profit 6 725 $

Sold products 4 300 

unit sales price 1.6$

unit cost 0 (negligible)

Volume of Sales 5 000 $

Cost of Sales 2 000 $

Gross Profit 3 000$

Sold products 1 886

unit sales price 2.65 $

unit cost 1.06$

Popcorn & colaTickets



Fixed cost = 5840 $

Profit margin = 4.25$ (1 ticket, 1 pack)

Break-even point = 5840 = 1375  
4.25

Earning per stock = 5626(Net Profit) = 0.5626 $ 
10000(stocks)



Revenue 21459 21900 22 000

Total Sales 
cost

(6 366$) (6 100$) (6 000$)

Gross Profit 15 093$ 15 800 16 000

Operational 
expenses

(6 200$) (5 624$) (5 500$)

Operational 
Profit

8 893$ 10 176$ 10 500

Interest (4 500$) (5 000$) (5 200$)

Income 
before taxes

4 393$ 5 176 5 300

Income taxes (527$) (621$) (636$)

Cash flow 3826$ 4555$ 4664

Operational cash flow 



Future value = 10 000 * (1+0.1 * 3) = 13000$

Interest rate = 10 %;
Investment = 10 000$
3 years;

Rate of return = (40 – 30) + 5,6)) = 0.52 

Stock price = 3$
Stocks bought for 30$;
Stock earning = 10 * 0.56 = 5.6
Stock will sale (in positive) for 40$

30



NPV

Investment requires 10 000$
Cash flow 1 year: 3826
Cash flow 2 year: 4555
Cash flow 3 year: 4664
Interest rate = 10 %

NPV = (10 000) + 3826 + 4555 + 4664 = 3478 + 3764 + 3504 = 746$ 
(1+0.1) (1+0.1)^2 (1+0.1)^3


